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Puzzle test for SBI Clerk Pre, IBPS Clerk Pre, IBPS RRB Assistant and 
LIC Assistant Exams. 
 
PT Set No 196 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

Eight persons A, B, C, D, E, F, G and H are working in a company and have different salaries. 
(But not necessarily in the same order). No two persons' salary is same. 
  
B's salary is fourth lowest but greater than that of D. C's salary is more than only one person. 
Salary of D is not the lowest in the company. Salary of E is second highest in the company. 
Salary of F is greater than H but not highest in the company. Salary of G is neither the highest 
nor the lowest in the company. Salary of G is lies between E and F. 
 
 

1. If salary of E is 15000 and D's salary is 10000. What can be the salary of F? 

A. 16000  B. 9000  C. 10000  D. 12000  E. None of the above 
 

2. Four of the following five are alike in a certain way and so form a group. Which one 
does not belong to that group? 

A. D   B. E   C. H   D. F   E. B 
 

3. If salary of A is 50000 and B's salary is 35000 What can be the salary of D? 

A. 15000  B. 36000  C. 40000  D. 55000  E. None of the above 
 

4. How many people have salary more than F? 

A. One   B. Three  C. Two   D. Four   E. None of the Above 
 

5.  Whose salary is greater than D and but less than F? 

A. A   B. B   C. C   D. E   E. None of the Above 
 
 
 
 

Correct Answers: 

1 2 3 4 5 

D E A B B 



 

 

Common explanations : 

 
References: 
 
B's salary is fourth lowest but greater than D. 
 
C's salary is more than only one person 
 
Salary of D is greater than H. 
 
Inferences: 
 
Hence Salary of B and D is greater than C and H with H has lowest salary. 
 
>     >     >     >     B     >     D     >     C     >     H 
 
References: 
 
Salary of G is lies between E and F who does not have second lowest salary 
 
Inferences: 
 
Hence G's salary is the third highest in the company with E's salary is 2nd highest and F's salary is 4th highest. So 
only A is left who will have the highest salary in the company. 
 
A     >     E     >     G     >     F     >     B     >     D     >     C     >     H 
 
And the arrangement gets done. 
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Answers : 
 
1.   Following the common explanation, salary of F should be 12000. 
 

Hence, option D is the correct answer. 
 
 

2. Following the common explanation, Except B all others are arranged at a gap of 1 with each other. 
Hence, B does not belong to the group. 

 
Therefore, option E is the correct answer. 

 
 

3. As per the final solution, hence, salary of D can be 15000. 
 

Hence, option A is the correct answer. 
 
 

4.   Following the common explanation, Hence, Three people have salary more than F. 
 

Hence, option B is the correct answer. 
 
 

5. Following the common explanation, 
 

B's salary is greater than D but less than F. 
 

Hence, Option B is correct. 
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